201748 H10H Ml 1R 2% HLIEAWEF]

1R 28 4HtEXREBFR 1000m A#—bk - & % 30, 6, 4.5, 3, 1.55M
5Ty KR 25 ©8 * £ R 1:018 ) BSFIEEAAMRA 534 350 434 43 435 38 345 26 i,}
2 J R = B4 L BF 1:01.0 L—2R 5y F{EF : MMM 333 MMS 146 SMM 72 HMM 46 Grant
PEEE | PEEYR | BEXES F 3R 14IE=RfEE }Eﬁﬂ BHE GE_ ¥, E) B 2f1B=L—2% I/ T4vT 952 3fiE= %IIE EH - BE - AR A
B OF | BABMEE|S 5512358 SARE - E BF -2 2. 3. 4AEBIEN 5/TE =36 - o BiHRE 24L ENY3
26| B 2 |EdEs/Felf  4BUT ZHIIF - chi - 4OF (HEL., W9, SELY A3 FML ﬁl’;ﬁﬁs& A-b~4fh - 3F~4F - 1{3F(5~1) +Y 3 FIREL
ME | 2 B | #10008% | & S\Iﬁkg:égm L—REYBFEAL - SBEDNLYIFEAL > 0.5 DBAKRT HIB=1EE$2%E GEE) 1. 2. 3EEOME
BAoX | BERME | 7oARM| # BerR| M2 700 HiE WA 3FERT 4FERT SR
PEREZ A 2 [ -3 T |MZ0003 [F 0003 [17.07.13 -195% F980 | 17.06.21 —1458 98] | 17.06.07 —365& a4l
ARLTF4—F HRFF iL50000 | F=0000 [ 28 45 % | JRABRE 2 | JRAZRE #5
54.0 .165 B4 0.0.0.0 | FPH0.0.0.0 |9 98 3% 8A 7 sm8EIA  KS|9 1288 2BIIA W
11 F—LTFUULG 7 — B’ | e PI# 1050@ | k4 0.0.0.0 | F750.0.0.0 | 408 0 ¥4 54 @@ | 408 -2 FJIE 54 @O | 410 #234H 54
(Sadler’ s Wells) 558 159| PI#§ 1050@ | 4 0.0.0.0 | F+£0.0.0.0 | 1000m 4 E 1:05:6 39.7 | 1000m 4 B 1:06:5 42.2 | 1000m 4 # 1:05:0 39.9
——[#]| 0003 | 0001 [£40003 |- @ -@-|MS 39.0 233 (D) | MMS 39.4 411 (8) | MMM 37.3 321 (11)
(B) A %5 0.0.0.2 | #05020580 | £320.0.00 | 38 0000 | 3a74vv7 4(2.8) sk | n/4vh Y3y (3.3)  #kskE | {10-7° 49" (3.4)  skikik
PR 2|2 A: . |MZ0004 [F 0004 [17.07.25 -7 & P98 |17.07.05 27:& FIal | 17.06.21 —22:& F9@l | 17.05. 1_ 6 & 5l
7ZX—n0 [BEEH 70000 | F=0000 |28 4B 2% 2% kB 2% 2/ xB i3 JRAZ wE
54.0 259 B4 0000 | FmE0.000 |5 78 6& 5A 8 BE 3% 8A 9 ' 1088 4% 5A 5 1288 5% 6A
A 2| 2| iSkLT7va—L AN FIE 10466 | k4 0.0.0.0 | F750.0.0.0 | 406 +10 FI%REE 54 BX® | 396 -2 PIZREE 54  ©@ | 398 -2 FIpAe 54 400 pTEREE 54
(Fo%t¥) 558 307| PIR 10466 | A 0.0.0.0 | F+0.0.0.0 | 1000m 4 B 1:05:0 39.8 | 1000m 4 # 1:05:7 40.6 | 1000m & B 1:07:6 43.3 | 1000m % B 1:04:6 39.4
———[%]1] 0.0.0.4 | 0002 | £50004 -6 -®-@-|MWS 38.6 322 (6) | MMM 37.9 321 (8) | MMS 40.3 411 (10) | MMS 39.6 244 (3)
PRI B EA 0.0.0.4 ioioioﬁo £320.0.0.0 | +1:8 000 1|4t /95(2.0) o Ikf-7"5¥+3.5)  kEM | Y 4ab1 -G 1) KRE | AN VR (1. 4) ks
TS99 8F—F 2 gw %@452 452 *Lzm.o.o 1’- 0.1.0.0 1J7 &7,&%6 5 B ;r’?ﬁ“
= NV =5 0.0.0.0 =0.0.0.0 B
TATHUE 54.0 057 ff 54-54 %0000 |Fm0000 |2 8B 2EIA K
KM 3o | F17809— HE | ang FAEL 1044@ [ K% 0.0.0.0 [ F750.0.0.0 | 452 HH% 54 @0
(F477m) i3 024| PR 1044@ | HA40.0.0.0 | F+£0.0.0.0 [ 1000m 4 B 1:04:4 40.0
%] | 0100 |Z£0.1.00 |[£%0100 | -c S 40.2 454 (3)
AHEF 0.1.0.0 | 30512080 | £ 0.0.0.0 YAt -h(0.0)  Ek
FUEo5—L 2 - EEEE ‘iﬁLgo 0.1.0 1J7 g&gz—lgg ;ﬁg
< 4 S E £0.0.0.0 5 JE.
YR 409 50.0 350 40,000 3 gm TE 2N A
Ll 410 | urw—x—F RE | AIS P54 1054Q@) | k4 0.0.0.0 400 RFE 54 @@
(b4 =2%) dbim3E 447| P58 10540 | 4 0.0.0.0 1000m 4 # 1:05:4 40.0
———[%]] 0.0.1.0 |Z0.0.1.0 | £40.0.1.0 SHiM 38.2 432 (3)
PR 0.0.1.0 | #05£02£0580 | £ 0.0.0.0 AMIYY A-b(2.3)  BeseE
FOSEIR €2 R iigggog 127A06.13 ?;?E F;g 1} &5:1};%3& ;;,g
S, 08 > . 0. o
TVVINTARX _ B4 0.0.0.0 5 TE 3% 4A 9 128 7% 5A
5[5 HH5FUY iz P74 10450) | k4 0.0.0.0 448 +4 BIBE 54 Q0| 444 HIEE 54 [00)
HYF—HALVYR) B P9H4 10456 | 4 0.0.0.0 1000m 4 # 1:04:5 40.5 | 1000m % B 1:06:3 42.7
———[%1| 0.0.0.2 £40.0.0.2 MM 38.2 441 (5) | MMS 39.6 531 (1)
BERE 0.0.0.0 | 305020580 [ £% 0.0.0.0 | %78 0000 [ 25-¥72.7) Bk | AR VR B.1) sk
FA DA S v — 2[3 B[ O:::: |MZ001.4 |F 001.2[17.07.26 -188 MBI | 17.07.05 188 M4 | 17.06.22 -16:& a4l |17.06.07 7_& FIal | 17.05. 23_4 E M5
O—XASp— Bk #40000 | F=0002 | 28 X 2% | 2® #B 2% TATRD 2% | 21 #I:% 2% | JRAZR
by 54.0 .320 B4 0.0.0.0 | Fm@0.0.0.0 |7 838 6&F 6A 5  BE IESA ®M |10 105EI0%F 4N K4t [ 3 BH 4% A £ 0mIEIN A
G 6| a1l Savsn—3 BE|LO&E FIH4 1026@ | K4 0.0.0.0 | F750.0.0.0 [ 472 +2 #2348 54 B[ 470 0 H£IBF 54 ®6) | 470 -2 E+% 54 412 +10 £+z 54 @@|462 E+=E 54 @@
(Dylan Thomas) i3 216 PIHG 1026@ | HA0.0.0.2 | F+£0.0.0.0 | 1200m 4 B 1:20:0 42.7 | 1200m 4 % 1:19:5 41.7 [ 1000m 4 7 1:05:0 40.5 | 1000m 4 # 1:02:6 38.4 | 1000m & E 1:04:5 30.8
———[%]] 0.0.1.4 |£0002 |£5001.4 | -@--®-@-|SMS 37.0-40.3 431 (7) | SMS 37.2-39.7 332 (5) [ MMS 38.5 332 (9) | MMM 38.1 443 (3) | MMS 40.1 424 (4
HlE BT 0.0.0.0 | 305020580 | £ 0.0.0.0 | 4138 0012 [ " yb)/2(2.7) S | Yv/Rb-v (2. 6) HHE | FLFHV(2.9) k| 417" Y- (0.6) FEH | N 1F4-/(0.6) ks
RO T—I—)L 42 [ -3 c:::: |MA0.00.1 |[F 00071 |17.07.26 ZZ;E L]
= REE 440000 | F200.0.0 RE 5
54.0 .139 B4 0.0.0.0 [ FPE0.0.0.0 g 7& 3N 4t
N AN EZEINY DY B | At FIR 10599 | K4 0.0.0.0 [ F750.0.0.0 | 436 ,%,5& 54 @D
M 7-197 409°) dbim3E 102| PR 10597 | 4 0.0.0.0 | F£0.0.0.0 | 1000m & B 1:05:9 40.1
——[#]| 0.0.0.1 | %0001 [£40001 | -@ -----|MMS 38.8 252 (6)
SEREERRA 0.0.0.1 | #0%02£0i80 [ £ 0.0.0.0 | 138 0000 | 7 YA3Y 2972 (2.9) sk
TA—TRANA 42| -4 ZF| o |[MHF00LT[F 00071 [17.07.25 -5 & Fi5l 17.07.13 -205 P93I
AR RY—L KEFER 40000 [ F=o001.0 | 28 4E 2% A -4
= 53.0 .168 40000 | FM0.0.0.0 |6 788 1% 2N 4 3 BE2BE3IAN W
7|8 Y—F UG K=35 E | 2018 FAR 10500 | k4 0.0.0.0 [ F750.0.0.0 | 440 -8 #3fd 54  ©O)| 448 FasHfh 54 (00
(More Than Ready) dtitgsE 158| PR 1050©) | F4 0.0.0.0 | F40.0.0.0 | 1000m & B 1:05:0 39.7 | 1200m 4 B 1:19:3 43.1
———[%]] 0.0.1.1 |2 001.1 |£5001.1 [ -®@ ---|MWS 38.6 343 (5) | MMS 36.2-40.1 531 (5)
KiEHE 0.0.0.0 | #05£02£0i80 | £ 0.0.0.0 | 5138 000 1 | #t /95(2.0) o 7H AV (3.0) k5
AX—F770L3Y 2 T |MZ0002 |F 0007 [17.00.27 -13:& MBIl | 17.07.13 408 P93I
IJFEYT 40000 | Fzo0001 | 2 KB %% | JRARE #E
7 . 40000 | FM0000 [7 83 5% 3A 6 83 3& A
819 —RrEOL—L— ES z PR 1060 | K4 0.0.0.0 | F750.0.0.0 | 434 0 ZAH 54 @@ 434 BEE 54 @@
(BAFT % kL) i PR 1060 | E4 0.0.0.0 | F+0.0.0.0 [ 1000m 4 B 1:06:0 41.4 [ 1200m & B 1:20:7 44.3
—[%]] 0002 [£0002 |£50002 | -@-® ---|MS 39.1 531 (7) | MMS 36.2-40.1 511 (6)
Ao th 0.0.0.0 | 05020580 | £ 0.0.0.0 | €138 000 1 [ A /2 /1 (2.5) ks | 74 bW (4. 4) %
7 RRAYSx Y 52 | -1 T |MH0004 [F 0004 |17.08.01 -213% F9a1 | 17.07.20 -2058 950 | 17.07.05_ 38 A0 | 17.06.21 —263& Fial | 17.06.07 —36:& Fial
HUBAY —/n— h (LA AF0000 | F=0000 | 28 *E % 2% | 2@ KB 2% | 2% KB 2% | JRARTE 5
- 51.0 .191 ®A 0000 | FmH0000 |8 93 6& 8A 7 8mE 8% 1A K5 | BR4Y 108 2% M |10 103 8% 6A 4t 11 1288 4% TA
8 (10 dA—tf Vv =— RE | AEZE FA# 1053 | K4 0.0.0.0 | F550.0.0.0 | 396 +2 LA 51  @D® | 394 0 {FEEF 54 ®® | &7 1A 51 394 +2 {REETF 54 O 392 E4BE 54 ()]
(917" F 4374hvaY) ti558 052| PI#4 1053 | E4 0.0.0.0 | F+0.0.0.0 | 1000m 4 E 1:05:4 39.9 | 1000m 4 B 1:05:8 39.8 | 1000m 4 #4 1000m & R 1:07:7 42.3 | 1000m 4 ¥4 1:05:3 39.4
——[#]| 0004 | 20002 [£40004|® @K -®@-|HMM 38.2 322 (8) | SMM 38.4 242 (6) | MMS 39.9 S 40.3 222 (8) | MMM 37.3 221 (10)
BEE 0.0.0.1 | #0502£0580 | £ 0.0.0.0 | 8 0000 [ 5 Vak3(2.9) Ak | 4564 (2.7) HEE Sk | ¥ eaba-(3.2) HE | 410-7° U4 3.7) ki
PRI 4 — ~ 1000miB 4t B AiAR (S£5H#RA : 2015. 08. 08~2017. 08.07) BHTE BER 3 E MR
|[:tod EHER HERES 1F 2% 3&F &S 23 T % % 1 2 3 456 7 8
1 YIRT4TFA 185 37 2% 17 16 0.239 0. 400 + ®® (3#ME) 27 27 27 28 28 27 28 29
2 Yr—3UyTYy 97 15 14 12 5 0.155 0.299 =
3 ALFUN KL 312 13 74 0.164 0.342 7 ©0 mu%ﬁsﬁfff&
4 u;r v 58 1 8 72 0.208 0.358 ¥ @06 1000m #—Fk -4 2% A BESFMOL—RB LR 44
5 S5—L a7 10 6 6 25 0.213 0.340 == XX R0t Eﬁﬁf*é& nn:L—2R%
6 4'—/1/\4 o— 133 9 715 102 0.068 0.120 PG L—25 v FHER
1 A adR—5— 71 9 5 15 42 0.127 0.197 1000m A— 2O SR BES — 24
8 AT ESAY 62 9 4 6 43 0.145 0.210 B @ o S s S 2RO S BESEMOL—RH L 44
9 FRILYTIYIR 60 g8 10 10 32 0.133 0.300 ®
10 F4—TZHA 52 8 4 4 36 0.154 0.231 5 DM

) - . . . TN, HAORERL, WY, BFEHEE, $RTEEHRTOMERLBALTFE 0,
2017/F8H10H MBI 1R 2% FLEARMFI 5 7Ly KR 28 & 1000m &£—k 4 4t AR 5 OB, TIRESRC RS,



